
Q .1Q .1 A s  dec ided in July  2 0 24 ,  whic h of the fo l lowing fel lows hips  is  d is c ontinued by  theA s  dec ided in July  2 0 24 ,  whic h of the fo l lowing fel lows hips  is  d is c ontinued by  the
M inis try  of  M inor ity  A ffairs  from 2 0 2 2 -2 3  onward due to  its  over lap with s imilarM inis try  of  M inor ity  A ffairs  from 2 0 2 2 -2 3  onward due to  its  over lap with s imilar
s c hemes  of other  M inis tr ies?s c hemes  of other  M inis tr ies?

A nsA ns 1. Maulana Azad National Fellowship (MANF) Scheme
2. Scheme for Providing Education to Madrasas/Minorities (SPEMM)
3. Padho Pardesh - Interest Subsidy Scheme
4. Merit-cum-Means based Scholarship

Q .2Q .2 What was  the pr imary  a im of O perat ion Kel ler  launc hed by  the Indian A rmy  on 1 3What was  the pr imary  a im of O perat ion Kel ler  launc hed by  the Indian A rmy  on 1 3
M ay  2 0 2 5,  in the S hoekal  Kel ler  area of S hopian d is tr ic t ,  S outh Kas hmir?M ay  2 0 2 5,  in the S hoekal  Kel ler  area of S hopian d is tr ic t ,  S outh Kas hmir?

A nsA ns 1. To rescue civilians trapped in the region
2. To retrieve weapons hidden by terrorists
3. To destroy terror infrastructure
4. To neutralise terrorists hiding in the region

Q .3Q .3 Where was  the venue of the 1 3Where was  the venue of the 1 3t ht h  M inis ter ia l  C onference of the World  Trade M inis ter ia l  C onference of the World  Trade
O rganizat ion in 2 0 24 ?O rganizat ion in 2 0 24 ?

A nsA ns 1. London
2. New Delhi
3. Tokyo
4. Abu Dhabi

Q .4Q .4 Who among the fo l lowing pres ided over  the s ec ond s es s ion of the Indian NationalWho among the fo l lowing pres ided over  the s ec ond s es s ion of the Indian National
C ongres s  in 1 886?C ongres s  in 1 886?

A nsA ns 1. Badruddin Tayabji
2. Dadabhai Naoroji
3. George Yule
4. Womesh Chandra Bonnerjee
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Q . 5Q . 5 In M arc h 2 0 24 ,  whic h bank  announced that  it  had s ec ured approval  from theIn M arc h 2 0 24 ,  whic h bank  announced that  it  had s ec ured approval  from the
G reen C l imate Fund (G C F)  for  its  firs t  anc hored projec t ,  the Avaana S us tainabi l ityG reen C l imate Fund (G C F)  for  its  firs t  anc hored projec t ,  the Avaana S us tainabi l ity
Fund ( A S F) ,  va lued at  US D 1 2 0  mil l ion?Fund ( A S F) ,  va lued at  US D 1 2 0  mil l ion?

A nsA ns 1. State Bank of India
2. Federal Bank
3. Industrial Development Bank of India
4. Small Industries Development Bank of India

Q .6Q .6 India’s  terr itor ia l  water  extends  towards  the s ea up to  a  d is tance of how manyIndia’s  terr itor ia l  water  extends  towards  the s ea up to  a  d is tance of how many
nautic al  miles?nautic al  miles?

A nsA ns 1. 15 nautical miles

2. 12 nautical miles
3. 25 nautical miles
4. 20 nautical miles

Q .7Q .7 The M ahabharat  range is  a  part  of  whic h mountain of Ind ia?The M ahabharat  range is  a  part  of  whic h mountain of Ind ia?
A nsA ns 1. Western Ghats

2. Eastern Ghats
3. Satpura
4. Himalayas

Q .8Q .8 It  is  a  Fundamental  Duty  of every  c it izen of Ind ia  ' to  uphold  and protec t  theIt  is  a  Fundamental  Duty  of every  c it izen of Ind ia  ' to  uphold  and protec t  the
________ ,  unity  and integr ity  of  Ind ia' .________ ,  unity  and integr ity  of  Ind ia' .

A nsA ns 1. socialism
2. sovereignty
3. secularism
4. universality

Q .9Q .9 Who among the fo l lowing embodied his  ideas  on s oc ia l  reform by  founding theWho among the fo l lowing embodied his  ideas  on s oc ia l  reform by  founding the
S elf- Res pec t  M ovement?S elf- Res pec t  M ovement?

A nsA ns 1. MR Jayakar
2. EV Ramaswamy Naicker
3. S Ramanathan
4. C Rajagopala Achariyar
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Q .1 0Q .1 0 The L odi  dy nas ty ,  whic h ruled the Delhi  S ultanate from 1 4 51  to  1 52 6 ,  belonged toThe L odi  dy nas ty ,  whic h ruled the Delhi  S ultanate from 1 4 51  to  1 52 6 ,  belonged to
whic h ethnic  or igin?whic h ethnic  or igin?

A nsA ns 1. Arab
2. Turkish
3. Persian
4. Afghan

Q .1 1Q .1 1 The Treaty  of A mrits ar  was  c onc luded in 1 80 9 between M aharaja  Ranj it  S ingh ofThe Treaty  of A mrits ar  was  c onc luded in 1 80 9 between M aharaja  Ranj it  S ingh of
Punjab and ______ ,  the Br it is h E as t  Ind ia  C ompany  repres entat ive.Punjab and ______ ,  the Br it is h E as t  Ind ia  C ompany  repres entat ive.

A nsA ns 1. Ramsay MacDonald
2. Warren Hastings
3. Charles Metcalfe
4. Lord Duffrin

Q .1 2Q .1 2 What percentage of the c ountry ’s  total  area s hould  be under  fores t ,  acc ording toWhat percentage of the c ountry ’s  total  area s hould  be under  fores t ,  acc ording to
the National  Fores t  Pol ic y  ( 1 952 )  of  Ind ia?the National  Fores t  Pol ic y  ( 1 952 )  of  Ind ia?

A nsA ns 1. 23%
2. 33%
3. 13%
4. 43%

Q .1 3Q .1 3 What ty pe of jur is d ic t ion does  A rt ic le 1 43  of the Indian C ons t itut ion c onfer  uponWhat ty pe of jur is d ic t ion does  A rt ic le 1 43  of the Indian C ons t itut ion c onfer  upon
the S upreme C ourt?the S upreme C ourt?

A nsA ns 1. Original and advisory jurisdiction
2. Appellate jurisdiction and original jurisdiction
3. Only advisory jurisdiction
4. Only original jurisdiction

Q .1 4Q .1 4 Whic h A rt ic le of  the Indian C ons t itut ion grants  the S upreme C ourt  the author ityWhic h A rt ic le of  the Indian C ons t itut ion grants  the S upreme C ourt  the author ity
to  init iate S uo moto ac t ion on matters  of  publ ic  importance?to init iate S uo moto ac t ion on matters  of  publ ic  importance?

A nsA ns 1. Article 141
2. Article 136
3. Article 32
4. Article 142
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Q .1 5Q .1 5 In the Inter im G overnment of Ind ia ,  formed in 1 94 6 ,  whic h portfo l io  was  held  byIn the Inter im G overnment of Ind ia ,  formed in 1 94 6 ,  whic h portfo l io  was  held  by
L iaquat A l i  Khan?L iaquat A l i  Khan?

A nsA ns 1. Ministry of External Affairs
2. Ministry of Defence
3. Ministry of Home Affairs
4. Ministry of Finance

Q .1 6Q .1 6 Who led  the Indian c ontingent dur ing the opening ceremony  of the 3 3Who led  the Indian c ontingent dur ing the opening ceremony  of the 3 3r dr d  O ly mpic O ly mpic
G ames  held  in Par is ,  as  the event c ommenced with a  unique boat parade on theG ames  held  in Par is ,  as  the event c ommenced with a  unique boat parade on the
S eine River?S eine River?

A nsA ns 1. Mary Kom and Abhinav Bindra
2. PV Sindhu and Sharath Kamal
3. Neeraj Chopra and Lovlina Borgohain
4. Saina Nehwal and Manika Batra

Q .1 7Q .1 7 Who among the fo l lowing was  the torc h bearer  for  Ind ia  in the S ummer O ly mpic sWho among the fo l lowing was  the torc h bearer  for  Ind ia  in the S ummer O ly mpic s
in Par is  in 2 0 24 ?in Par is  in 2 0 24 ?

A nsA ns 1. Neeraj Chopra
2. PT Usha
3. Rajyavardhan Singh Rathore
4. Abhinav Bindra

Q .1 8Q .1 8 A s  per  C ens us  of Ind ia  2 0 1 1 ,  whic h of the fo l lowing is  the third  larges t  rel igion ofA s  per  C ens us  of Ind ia  2 0 1 1 ,  whic h of the fo l lowing is  the third  larges t  rel igion of
India?India?

A nsA ns 1. Christianity
2. Islam
3. Buddhism
4. Sikhism

Q .1 9Q .1 9 A s  per  C ens us  of Ind ia  2 0 1 1 ,  whic h of the fo l lowing s tates  rec orded the highes tA s  per  C ens us  of Ind ia  2 0 1 1 ,  whic h of the fo l lowing s tates  rec orded the highes t
l iterac y  rate in Ind ia?l iterac y  rate in Ind ia?

A nsA ns 1. Kerala
2. Mizoram
3. Punjab
4. Sikkim
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Q .2 0Q .2 0 Who among the fo l lowing was  a  very  c apable ruler,  regarded as  the ‘real  founderWho among the fo l lowing was  a  very  c apable ruler,  regarded as  the ‘real  founder
of the Delhi  S ultanate’?of the Delhi  S ultanate’?

A nsA ns 1. Shamsuddin Iltutmish
2. Nasiruddin Mahamud
3. Bahram Shah
4. Ruknuddin

Q .2 1Q .2 1

A nsA ns 1. 
2. 
3. 
4. 

Q .2 2Q .2 2 If  2  is  added to  eac h odd d igit  and 1  is  s ubtrac ted from eac h even d igit  in theIf  2  is  added to  eac h odd d igit  and 1  is  s ubtrac ted from eac h even d igit  in the
number 71 5843 6,  how many  d igits  wi l l  appear  more than once in the new numbernumber 71 5843 6,  how many  d igits  wi l l  appear  more than once in the new number
thus  formed?thus  formed?

A nsA ns 1. One
2. Two
3. None
4. Three

Section : Logical Reasoning
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Q .2 3Q .2 3 A  paper  is  fo lded and c ut  as  s hown below.  How wi l l  i t  appear  when unfolded?A  paper  is  fo lded and c ut  as  s hown below.  How wi l l  i t  appear  when unfolded?

A nsA ns 1. 

2. 

3. 

4. 

Q .24Q .24 Three of the fo l lowing pairs  of  words  are a l ike in a  certain way  and thus  form aThree of the fo l lowing pairs  of  words  are a l ike in a  certain way  and thus  form a
group.  Whic h word- pair  DO E S  NO T belong to  that  group?group.  Whic h word- pair  DO E S  NO T belong to  that  group?

( Note:  The words  mus t be c ons idered as  meaningful  E ngl is h words  and mus t not( Note:  The words  mus t be c ons idered as  meaningful  E ngl is h words  and mus t not
be grouped bas ed on the number of letters/c ons onants/vowels  in the word . )be grouped bas ed on the number of letters/c ons onants/vowels  in the word . )

A nsA ns 1. Dull - Lifeless
2. Eager - Keen
3. Praise - Blame
4. Explain - Elaborate
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Q .2 5Q .2 5 What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?

4 1  4 1  43  43  47  47  53  53  ?  ?  7171
A nsA ns 1. 61

2. 59
3. 60
4. 58

Q .2 6Q .2 6 1 3  is  related to  1 1 7  fo l lowing a certain logic .  Fo l lowing the s ame logic ,  24  is1 3  is  related to  1 1 7  fo l lowing a certain logic .  Fo l lowing the s ame logic ,  24  is
related to  2 1 6 .  To  whic h of the fo l lowing is  3 1  related ,  fo l lowing the s ame logic ?related to  2 1 6 .  To  whic h of the fo l lowing is  3 1  related ,  fo l lowing the s ame logic ?

( Note:  O perat ions  s hould  be performed on the whole numbers ,  without break ing( Note:  O perat ions  s hould  be performed on the whole numbers ,  without break ing
down the numbers  into  their  c ons t ituent d igits .  E .g . ,  1 3  – O perat ions  on 1 3  s uc hdown the numbers  into  their  c ons t ituent d igits .  E .g . ,  1 3  – O perat ions  on 1 3  s uc h
as  adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  intoas  adding/s ubtrac t ing/mult iply ing to  1 3  c an be performed.  Break ing down 1 3  into
1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not  a l lowed . )

A nsA ns 1. 279
2. 269
3. 249
4. 259

Q .2 7Q .2 7 YO L K is  related to  KLOY in a  certain way  bas ed on the E ngl is h a lphabetic al  order.YO L K is  related to  KLOY in a  certain way  bas ed on the E ngl is h a lphabetic al  order.
In the s ame way ,  C A NDIDATE  is  related to  E TA DIDNA C .  To whic h of the fo l lowingIn the s ame way ,  C A NDIDATE  is  related to  E TA DIDNA C .  To whic h of the fo l lowing
is  D IRE C T related ,  fo l lowing the s ame logic ?is  D IRE C T related ,  fo l lowing the s ame logic ?

A nsA ns 1. 
2. 
3. 
4. 
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Q .2 8Q .2 8 Refer  to  the fo l lowing number s er ies  and ans wer  the ques t ion that  fo l lows .Refer  to  the fo l lowing number s er ies  and ans wer  the ques t ion that  fo l lows .
C ounting to  be done from left  to  r ight  only .  ( A l l  numbers  are s ingle- d igitC ounting to  be done from left  to  r ight  only .  ( A l l  numbers  are s ingle- d igit
numbers  only . )numbers  only . )
( L eft)  4  ( L eft)  4  2  2  1  1  5 5 7  7  9  9  8  8  5 5 3  3  6  6  2  2  1  1  5 5 7  7  3  3  7  7  8  8  4  4  3  3  6  6  9  9  7  7  4  4  5 5 2  2  4  4  1  ( Right)1  ( Right)

How many  perfec t  s quares  are there in the given number s er ies?How many  perfec t  s quares  are there in the given number s er ies?
A nsA ns 1. Two

2. Four
3. Six
4. Nine

Q .2 9Q .2 9 Refer  to  the fo l lowing number s er ies  and ans wer  the ques t ion that  fo l lows .Refer  to  the fo l lowing number s er ies  and ans wer  the ques t ion that  fo l lows .
C ounting to  be done from left  to  r ight  only .  ( A l l  numbers  are s ingle- d igitC ounting to  be done from left  to  r ight  only .  ( A l l  numbers  are s ingle- d igit
numbers  only . )  numbers  only . )  

( L eft)  ( L eft)  9  9  6  6  2  2  3  3  3  3  9  9  3  3  5 5 1  1  4  4  3  3  2  2  3  3  3  3  7  7  8  8  1  1  1  1  5 5 3  3  7  7  4  4  9  9  9  9  3  3  5 5 3  3  ( Right)( Right)

How many  s uc h even d igits  are there eac h of whic h is  immediately  preceded by  aHow many  s uc h even d igits  are there eac h of whic h is  immediately  preceded by  a
perfec t  s quare and immediately  fo l lowed by  an odd d igit?perfec t  s quare and immediately  fo l lowed by  an odd d igit?

( Note:  1  is  a ls o  a  perfec t  s quare)( Note:  1  is  a ls o  a  perfec t  s quare)
A nsA ns 1. Three

2. One
3. None
4. Two

Q .3 0Q .3 0 S ix  boxes  A ,  B,  C ,  D,  E ,  and F are kept one over  the other  but not  neces s ar i ly  in theS ix  boxes  A ,  B,  C ,  D,  E ,  and F are kept one over  the other  but not  neces s ar i ly  in the
s ame order.  C  is  kept third  from the bottom.  O nly  two boxes  are kept between Bs ame order.  C  is  kept third  from the bottom.  O nly  two boxes  are kept between B
and C .  E  is  kept on one of the pos it ions  below D.  A  is  kept immediately  below E .  Fand C .  E  is  kept on one of the pos it ions  below D.  A  is  kept immediately  below E .  F
is  kept immediately  above D.  is  kept immediately  above D.  
Whic h box is  third  from the top?Whic h box is  third  from the top?

A nsA ns 1. D
2. A
3. F
4. E

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


Q .3 1Q .3 1 Three of the fo l lowing pairs  of  words  are a l ike in a  certain way  and thus  form aThree of the fo l lowing pairs  of  words  are a l ike in a  certain way  and thus  form a
group.  Whic h word- pair  DO E S  NO T belong to  that  group?group.  Whic h word- pair  DO E S  NO T belong to  that  group?

( Note:  The words  mus t be c ons idered as  meaningful  E ngl is h words  and mus t not( Note:  The words  mus t be c ons idered as  meaningful  E ngl is h words  and mus t not
be grouped bas ed on the number of letters/c ons onants/vowels  in the word . )be grouped bas ed on the number of letters/c ons onants/vowels  in the word . )

A nsA ns 1. Stupid - Clever
2. Cheap - Expensive
3. Despise - Hate
4. Captivity - Freedom

Q .3 2Q .3 2 If  ‘E ’ s tands  for  ‘+ ’ ,  ‘F ’ s tands  for  ‘− ’ ,  ‘G ’ s tands  for  ‘÷ ’ and ‘H ’ s tands  for  ‘× ’ ,  thenIf  ‘E ’ s tands  for  ‘+ ’ ,  ‘F ’ s tands  for  ‘− ’ ,  ‘G ’ s tands  for  ‘÷ ’ and ‘H ’ s tands  for  ‘× ’ ,  then
wil l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation?  wi l l  c ome in place of the ques t ion mark  ( ? )  in the fo l lowing equation?  

1 5 G  5 E  1 1  H  2  F 1  =  ?1 5 G  5 E  1 1  H  2  F 1  =  ?
A nsA ns 1. 24

2. 14
3. 9
4. 29

Q .3 3Q .3 3 In the fo l lowing number- pairs ,  the s ec ond number is  obtained by  apply ing certainIn the fo l lowing number- pairs ,  the s ec ond number is  obtained by  apply ing certain
mathematic al  operat ions  to  the firs t  number.  Whic h numbers  s hould  replace Xmathematic al  operat ions  to  the firs t  number.  Whic h numbers  s hould  replace X
and Y  s o  that  the pattern fo l lowed by  the two numbers  on the left  s ide of : :  is  theand Y  s o  that  the pattern fo l lowed by  the two numbers  on the left  s ide of : :  is  the
s ame as  that  on the r ight  s ide of : : ?s ame as  that  on the r ight  s ide of : : ?

( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing( NO TE :  O perat ions  s hould  be performed on the whole numbers ,  without break ing
down the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc hdown the numbers  into  their  c ons t ituent d igits .  E .g .  1 3  – O perat ions  on 1 3  s uc h
as  adding /  s ubtrac t ing /  mult iply ing to  1 3  c an be performed.  Break ing down 1 3as  adding /  s ubtrac t ing /  mult iply ing to  1 3  c an be performed.  Break ing down 1 3
into  1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  notinto  1  and 3  and then performing mathematic al  operat ions  on 1  and 3  is  not
al lowed . )a l lowed . )

X  :  52 .7  : :  73  :  YX :  52 .7  : :  73  :  Y
A nsA ns 1. X = 46, Y = 81.7

2. X = 51, Y = 86.7
3. X = 38, Y = 87.7
4. X = 44, Y = 91.7
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Q .3 4Q .3 4 Refer  to  the fo l lowing s er ies  and ans wer  the ques t ion that  fo l lows .  C ounting toRefer  to  the fo l lowing s er ies  and ans wer  the ques t ion that  fo l lows .  C ounting to
be done from left  to  r ight  only .be done from left  to  r ight  only .

( L eft)  I  ( L eft)  I  C  C  B  B  C  C  J  J  O  O  Y  Y  L  L  K K A  A  U U E  E  G  G  M  M  J  J  S  S  L  L  P  ( Right)P  ( Right)

How many  s uc h c ons onants  are there,  eac h of whic h is  immediately  preceded byHow many  s uc h c ons onants  are there,  eac h of whic h is  immediately  preceded by
a c ons onant and als o  immediately  fo l lowed by  a  vowel?a c ons onant and als o  immediately  fo l lowed by  a  vowel?

A nsA ns 1. None
2. Two
3. Five
4. Three

Q .3 5Q .3 5 What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?What s hould  c ome in place of the ques t ion mark  ( ? )  in the given s er ies?

72  72  77  77  86 86 99 99 ?  ?  1 3 7  1 3 7  
A nsA ns 1. 

2. 
3. 
4. 

Q .3 6Q .3 6 O T 2 7  is  related to  VA  9 in a  certain way .  In the s ame way ,  M R 72  is  related to  TYO T 2 7  is  related to  VA  9 in a  certain way .  In the s ame way ,  M R 72  is  related to  TY
24 .  To  whic h of the fo l lowing is  HM  3  related ,  fo l lowing the s ame logic ?24 .  To  whic h of the fo l lowing is  HM  3  related ,  fo l lowing the s ame logic ?

A nsA ns 1. OS 9
2. PS 9
3. OT 1
4. PT 1

Q .3 7Q .3 7 If  ‘K ’ s tands  for  ‘÷ ’ ,  ‘L’ s tands  for  ‘× ’ ,  ‘M ’ s tands  for  ‘+ ’ ,  and ‘N’ s tands  for  ‘− ’ ,  thenIf  ‘K ’ s tands  for  ‘÷ ’ ,  ‘L’ s tands  for  ‘× ’ ,  ‘M ’ s tands  for  ‘+ ’ ,  and ‘N’ s tands  for  ‘− ’ ,  then
the res ultant  of whic h of the fo l lowing would  be 4 0 ?the res ultant  of whic h of the fo l lowing would  be 4 0 ?

A nsA ns 1. 90 L 1 K 3 N 15 M 5
2. 120 M 60 N 20 L 1 K 4
3. 60 K 2 M 20 N 5 L 2

4. 100 N 40 M 20 K 2 L 1
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Q .3 8Q .3 8 Q G  1 8  is  related to  S D 5 in a  certain way .  In the s ame way ,  KT  2 9 is  related to  M QQ G  1 8 is  related to  S D 5 in a  certain way .  In the s ame way ,  KT  2 9 is  related to  M Q
1 6 .  To  whic h of the given options  is  NL  9  related ,  fo l lowing the s ame logic ?1 6 .  To  whic h of the given options  is  NL  9  related ,  fo l lowing the s ame logic ?

A nsA ns 1. PJ −4
2. QI −6
3. PI −4
4. Q J −6

Q .3 9Q .3 9 E ac h vowel  in the word CO M BINE  is  c hanged to  the letter  fo l lowing it  in theE ac h vowel  in the word CO M BINE  is  c hanged to  the letter  fo l lowing it  in the
E ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letter  precedingE ngl is h a lphabetic al  order  and eac h c ons onant is  c hanged to  the letter  preceding
it  in the E ngl is h a lphabetic al  order.  Whic h of the fo l lowing letters  wi l l  be thirdit  in the E ngl is h a lphabetic al  order.  Whic h of the fo l lowing letters  wi l l  be third
from the left  in the new group of letters  thus  formed?from the left  in the new group of letters  thus  formed?

A nsA ns 1. L
2. B
3. F
4. V

Q .4 0Q .4 0 A niket  ranked 1 1A niket  ranked 1 1t ht h  from the top and 2 1 from the top and 2 1s ts t  from the bottom in his  c las s .  How many from the bottom in his  c las s .  How many
s tudents  are there in the c las s?s tudents  are there in the c las s?

A nsA ns 1. 29
2. 30
3. 31
4. 32

Q .4 1Q .4 1 S elec t  the mos t appropr iate option to  fil l  in the blank .S elec t  the mos t appropr iate option to  fil l  in the blank .
S he ___ in this  office s ince 2 0 1 7.S he ___ in this  office s ince 2 0 1 7.

A nsA ns 1. was working
2. is working
3. will be working
4. has been working

Section : General English and Comprehension
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Q .4 2Q .4 2 S elec t  the mos t appropr iate A NTO NYM  of the under l ined word in the givenS elec t  the mos t appropr iate A NTO NYM  of the under l ined word in the given
s entence.s entence.

In winter,  s now fal ls  and In winter,  s now fal ls  and c oversc overs  the ground l ike a  s oft  blanket . the ground l ike a  s oft  blanket .
A nsA ns 1. Nourishes

2. Wets
3. Exposes
4. Blurs

Q .43Q .43 S elec t  the mos t appropr iate meaning of the under l ined id iom.S elec t  the mos t appropr iate meaning of the under l ined id iom.
Des pite being new to  the indus try ,  A r jun Des pite being new to  the indus try ,  A r jun learned the ropeslearned the ropes quic k ly . quic k ly .

A nsA ns 1. To train for physical strength
2. To understand complex mathematical concepts
3. To become familiar with rules or procedures
4. To master sailing techniques

Q .4 4Q .4 4 S elec t  the mos t appropr iate option to  fil l  in the blank .S elec t  the mos t appropr iate option to  fil l  in the blank .

I f  s he _____ more t ime,  s he would  finis h the projec t .I f  s he _____ more t ime,  s he would  finis h the projec t .
A nsA ns 1. have

2. has
3. having
4. had

Q .4 5Q .4 5 S elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the given groupS elec t  the option that  c an be us ed as  a  one- word s ubs t itute for  the given group
of words .of  words .

A  pers on who is  c heerful  and ful l  of  high s pir itsA  pers on who is  c heerful  and ful l  of  high s pir its
A nsA ns 1. Anxious

2. Jovial
3. Grumpy
4. Melancholic
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow. 

Traumatic events tend to trigger what Gilbert refers to as our 'psychological immune
systems'. Our psychological immune systems promote our brain’s ability to deliver a
positive outlook and happiness from an inescapable situation. This is the opposite of what
we would expect when we imagine such an event. As Gilbert says, 'People are not aware of
the fact that their defenses are more likely to be triggered by intense rather than mild
suffering. Thus, they mis-predict their own emotional reactions to misfortunes of different
sizes'.

This effect works in a similar way for extremely positive events. For example, consider how
it would feel to win the lottery. Many people assume that winning the lottery would
immediately deliver long-lasting happiness, but research has found the opposite as it was
discovered that the happiness levels of paraplegics and lottery winners were essentially
the same within a year after the event occurred.

S ubQ ues t ion No :  4 6S ubQ ues t ion No :  4 6
Q .4 6Q .4 6 Whic h of the fo l lowing inferences  c an be drawn from the pas s age?Whic h of the fo l lowing inferences  c an be drawn from the pas s age?
A nsA ns 1. Suffering should be avoided at all costs.

2. Psychological adaptation helps balance emotional extremes.
3. Happiness is only based on what happens to us.

4. Intense experiences make people permanently unhappy or happy.
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow. 

Traumatic events tend to trigger what Gilbert refers to as our 'psychological immune
systems'. Our psychological immune systems promote our brain’s ability to deliver a
positive outlook and happiness from an inescapable situation. This is the opposite of what
we would expect when we imagine such an event. As Gilbert says, 'People are not aware of
the fact that their defenses are more likely to be triggered by intense rather than mild
suffering. Thus, they mis-predict their own emotional reactions to misfortunes of different
sizes'.

This effect works in a similar way for extremely positive events. For example, consider how
it would feel to win the lottery. Many people assume that winning the lottery would
immediately deliver long-lasting happiness, but research has found the opposite as it was
discovered that the happiness levels of paraplegics and lottery winners were essentially
the same within a year after the event occurred.

S ubQ ues t ion No :  47S ubQ ues t ion No :  47
Q .47Q .47 S elec t  the s ummary  that  bes t  c aptures  the es s ence of the given pas s age.S elec t  the s ummary  that  bes t  c aptures  the es s ence of the given pas s age.
A nsA ns 1. Suffering always leads to depression.

2. People feel worse after suffering trauma.
3. Winning the lottery makes people permanently happy.
4. We misjudge how we’ll feel after major events.
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow. 

Traumatic events tend to trigger what Gilbert refers to as our 'psychological immune
systems'. Our psychological immune systems promote our brain’s ability to deliver a
positive outlook and happiness from an inescapable situation. This is the opposite of what
we would expect when we imagine such an event. As Gilbert says, 'People are not aware of
the fact that their defenses are more likely to be triggered by intense rather than mild
suffering. Thus, they mis-predict their own emotional reactions to misfortunes of different
sizes'.

This effect works in a similar way for extremely positive events. For example, consider how
it would feel to win the lottery. Many people assume that winning the lottery would
immediately deliver long-lasting happiness, but research has found the opposite as it was
discovered that the happiness levels of paraplegics and lottery winners were essentially
the same within a year after the event occurred.

S ubQ ues t ion No :  4 8S ubQ ues t ion No :  4 8
Q .4 8Q .4 8 Whic h of the fo l lowing is  NO T a fac t  s tated in the given pas s age?Whic h of the fo l lowing is  NO T a fac t  s tated in the given pas s age?
A nsA ns 1. People accurately predict how they’ll feel after winning a lottery.

2. Psychological immune systems help maintain happiness.
3. Lottery winners and paraplegics report similar happiness after a year.
4. Intense suffering often activates emotional defenses.
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C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow. 

Traumatic events tend to trigger what Gilbert refers to as our 'psychological immune
systems'. Our psychological immune systems promote our brain’s ability to deliver a
positive outlook and happiness from an inescapable situation. This is the opposite of what
we would expect when we imagine such an event. As Gilbert says, 'People are not aware of
the fact that their defenses are more likely to be triggered by intense rather than mild
suffering. Thus, they mis-predict their own emotional reactions to misfortunes of different
sizes'.

This effect works in a similar way for extremely positive events. For example, consider how
it would feel to win the lottery. Many people assume that winning the lottery would
immediately deliver long-lasting happiness, but research has found the opposite as it was
discovered that the happiness levels of paraplegics and lottery winners were essentially
the same within a year after the event occurred.

S ubQ ues t ion No :  4 9S ubQ ues t ion No :  4 9
Q .4 9Q .4 9 Identify  the mos t appropr iate t it le for  the pas s age.Identify  the mos t appropr iate t it le for  the pas s age.
A nsA ns 1. How to Stay Happy Forever

2. Why People Misjudge Suffering
3. The Power of the Psychological Immune System
4. The Truth About Winning the Lottery

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


C omprehens ion:C omprehens ion:
Read the given passage and answer the questions that follow. 

Traumatic events tend to trigger what Gilbert refers to as our 'psychological immune
systems'. Our psychological immune systems promote our brain’s ability to deliver a
positive outlook and happiness from an inescapable situation. This is the opposite of what
we would expect when we imagine such an event. As Gilbert says, 'People are not aware of
the fact that their defenses are more likely to be triggered by intense rather than mild
suffering. Thus, they mis-predict their own emotional reactions to misfortunes of different
sizes'.

This effect works in a similar way for extremely positive events. For example, consider how
it would feel to win the lottery. Many people assume that winning the lottery would
immediately deliver long-lasting happiness, but research has found the opposite as it was
discovered that the happiness levels of paraplegics and lottery winners were essentially
the same within a year after the event occurred.

S ubQ ues t ion No :  50S ubQ ues t ion No :  50
Q . 50Q . 50 S elec t  the mos t appropr iate A NTO NYM  of the word ' tr iggered ' .S elec t  the mos t appropr iate A NTO NYM  of the word ' tr iggered ' .
A nsA ns 1. Initiated

2. Ignited
3. Stimulated
4. Checked

Q . 51Q . 51 '' पा हुनपा हुन '  '  िक सकािक सका   प य^ यवा चीप य^ यवा ची   हैहै --
A nsA ns 1. मेहमान

2. दोg
3. मुhन
4. hमत

Section : General Hindi and Comprehension
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Q . 52Q . 52 hनjkलmख तhनjkलmख त   hवक ophवक op   मqमq   सेसे   मुहा वरेमुहा वरे   काका   सहीसही   अथuअथu   चुनqचुनq ।।
‘‘ ना कना क   मqमq   द मद म   क र नाक र ना ’’

A nsA ns 1. कुछ न सुनना
2. xान देना

3. परेशान करना
4. सावधान रहना

Q . 53Q . 53 '' ना कना क   र ग ड़ नार ग ड़ ना '  '  मुहा वरामुहा वरा   काका   अथuअथu   हो गाहो गा --
A nsA ns 1. अ}ास करना

2. खुशामद करना
3. ल~�त होना
4. प�र�म करना

Q . 54Q . 54 उ प यु�उ प यु�   hवभ��hवभ��   काका   चयनचयन   क रqक रq । । 
_____ _____ प र सगuप र सगu   काका   � यो ग� यो ग   वतuमा नवतuमा न   औ रऔ र   भhव� तभhव� त   का लका ल   मqमq   hबलकु लhबलकु ल   नह�नह�   हो ताहो ता   हैहै  । ।

A nsA ns 1. ने
2. के
3. मq
4. पर

Q . 55Q . 55 ‘‘ अ�अ� ’ ’ काका   प य^ यवा चीप य^ यवा ची   श�श�   हैहै ??
A nsA ns 1. घोड़ा

2. जंगल
3. पवuत
4. आकाश
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर hनjkलmखत ��p के उ�र दीkजए-

�हदंी kजस kलिप मq kलखी जाती है उसका नाम 'देवनागर� kलिप' है। देवनागर� kलिप का hवकास �ा�ी kलिप से हुआ
है। �ा�ी वह �ाचीन kलिप है, kजससे �हदंी क� देवनागर� का ही नह� गुजराती, बंगला, असhमया , उ�ड़या आ�द भाषाओ�
क� kलिपयp का भी hवकास हुआ है। देवनागर� kलिप मq बाय� ओर से दाय� ओर kलखा जाता है। यह एक वै�ाhनक
kलिप है। यह एक मा� ऐसी kलिप है, kजसमq ¡र तथा ¢ंजन £hनयp को hमलकर kलखे जाने क� ¢व¤ा है। संसार
क� समg भाषाओ� मq ¢ंजनp का ¡तं� ¥प मq उ¦ारण ¡र के साथ hमलकर िकया जाता है पर देवनागर� के
आलावा hव� मq कोई भी ऐसी kलिप नह� है, kजसमq ¢ंजन और ¡र को hमलाकर kलखे जाने क� ¢व¤ा हो। इस
कारण से देवनागर� kलिप अª kलिपयp क� तुलना मq अ«धक वै�ाhनक kलिप के ¥प मq ¡ीकायu है। देवनागर� kलिप
एक वै�ाhनक kलिप है। '�हदंी ' और 'सं¬ृत' देवनागर� kलिप मq kलखी जाती है।

S ubQ ues t ion No :  56S ubQ ues t ion No :  56
Q . 56Q . 56 ग �� शग �� श   मqमq   � यु�� यु�  ' ' hवका सhवका स '  '  काका   प य^ यवा चीप य^ यवा ची   श�श�   हैहै  - -
A nsA ns 1. �गhत

2. hव®म
3. hनवास
4. hवकराल

https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap


C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर hनjkलmखत ��p के उ�र दीkजए-

�हदंी kजस kलिप मq kलखी जाती है उसका नाम 'देवनागर� kलिप' है। देवनागर� kलिप का hवकास �ा�ी kलिप से हुआ
है। �ा�ी वह �ाचीन kलिप है, kजससे �हदंी क� देवनागर� का ही नह� गुजराती, बंगला, असhमया , उ�ड़या आ�द भाषाओ�
क� kलिपयp का भी hवकास हुआ है। देवनागर� kलिप मq बाय� ओर से दाय� ओर kलखा जाता है। यह एक वै�ाhनक
kलिप है। यह एक मा� ऐसी kलिप है, kजसमq ¡र तथा ¢ंजन £hनयp को hमलकर kलखे जाने क� ¢व¤ा है। संसार
क� समg भाषाओ� मq ¢ंजनp का ¡तं� ¥प मq उ¦ारण ¡र के साथ hमलकर िकया जाता है पर देवनागर� के
आलावा hव� मq कोई भी ऐसी kलिप नह� है, kजसमq ¢ंजन और ¡र को hमलाकर kलखे जाने क� ¢व¤ा हो। इस
कारण से देवनागर� kलिप अª kलिपयp क� तुलना मq अ«धक वै�ाhनक kलिप के ¥प मq ¡ीकायu है। देवनागर� kलिप
एक वै�ाhनक kलिप है। '�हदंी ' और 'सं¬ृत' देवनागर� kलिप मq kलखी जाती है।

S ubQ ues t ion No :  57S ubQ ues t ion No :  57
Q . 57Q . 57 �द ए�द ए   ग एग ए   ग �� शग �� श   केके   kलएkलए   उ प यु�उ प यु�   शी ष uकशी षuक   काका   चयनचयन   क� kजएक� kजए ।।
A nsA ns 1. रोमन kलिप

2. खरो¯ी kलिप
3. फारसी kलिप
4. देवनागर� kलिप
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर hनjkलmखत ��p के उ�र दीkजए-

�हदंी kजस kलिप मq kलखी जाती है उसका नाम 'देवनागर� kलिप' है। देवनागर� kलिप का hवकास �ा�ी kलिप से हुआ
है। �ा�ी वह �ाचीन kलिप है, kजससे �हदंी क� देवनागर� का ही नह� गुजराती, बंगला, असhमया , उ�ड़या आ�द भाषाओ�
क� kलिपयp का भी hवकास हुआ है। देवनागर� kलिप मq बाय� ओर से दाय� ओर kलखा जाता है। यह एक वै�ाhनक
kलिप है। यह एक मा� ऐसी kलिप है, kजसमq ¡र तथा ¢ंजन £hनयp को hमलकर kलखे जाने क� ¢व¤ा है। संसार
क� समg भाषाओ� मq ¢ंजनp का ¡तं� ¥प मq उ¦ारण ¡र के साथ hमलकर िकया जाता है पर देवनागर� के
आलावा hव� मq कोई भी ऐसी kलिप नह� है, kजसमq ¢ंजन और ¡र को hमलाकर kलखे जाने क� ¢व¤ा हो। इस
कारण से देवनागर� kलिप अª kलिपयp क� तुलना मq अ«धक वै�ाhनक kलिप के ¥प मq ¡ीकायu है। देवनागर� kलिप
एक वै�ाhनक kलिप है। '�हदंी ' और 'सं¬ृत' देवनागर� kलिप मq kलखी जाती है।

S ubQ ues t ion No :  58S ubQ ues t ion No :  58
Q . 58Q . 58 �हंदी�हंदी   िक सिक स   kलिपkलिप   मqमq   kलखीkलखी   जा तीजा ती   हैहै  ? ?
A nsA ns 1. फारसी kलिप

2. खरो¯ी kलिप
3. देवनागर� kलिप
4. �ा�ी kलिप
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर hनjkलmखत ��p के उ�र दीkजए-

�हदंी kजस kलिप मq kलखी जाती है उसका नाम 'देवनागर� kलिप' है। देवनागर� kलिप का hवकास �ा�ी kलिप से हुआ
है। �ा�ी वह �ाचीन kलिप है, kजससे �हदंी क� देवनागर� का ही नह� गुजराती, बंगला, असhमया , उ�ड़या आ�द भाषाओ�
क� kलिपयp का भी hवकास हुआ है। देवनागर� kलिप मq बाय� ओर से दाय� ओर kलखा जाता है। यह एक वै�ाhनक
kलिप है। यह एक मा� ऐसी kलिप है, kजसमq ¡र तथा ¢ंजन £hनयp को hमलकर kलखे जाने क� ¢व¤ा है। संसार
क� समg भाषाओ� मq ¢ंजनp का ¡तं� ¥प मq उ¦ारण ¡र के साथ hमलकर िकया जाता है पर देवनागर� के
आलावा hव� मq कोई भी ऐसी kलिप नह� है, kजसमq ¢ंजन और ¡र को hमलाकर kलखे जाने क� ¢व¤ा हो। इस
कारण से देवनागर� kलिप अª kलिपयp क� तुलना मq अ«धक वै�ाhनक kलिप के ¥प मq ¡ीकायu है। देवनागर� kलिप
एक वै�ाhनक kलिप है। '�हदंी ' और 'सं¬ृत' देवनागर� kलिप मq kलखी जाती है।

S ubQ ues t ion No :  59S ubQ ues t ion No :  59
Q . 59Q . 59 ग �� शग �� श   मqमq   � यु�� यु�  ' ' वै�ा hनकवै�ा hनक '  '  काका   hवलो मhवलो म   श�श�   हो गाहो गा  - -
A nsA ns 1. अवैधाhनक

2. अवै�दक
3. अवैतhनक
4. अवै�ाhनक
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C omprehens ion:C omprehens ion:
�दए गए ग��श के आधार पर hनjkलmखत ��p के उ�र दीkजए-

�हदंी kजस kलिप मq kलखी जाती है उसका नाम 'देवनागर� kलिप' है। देवनागर� kलिप का hवकास �ा�ी kलिप से हुआ
है। �ा�ी वह �ाचीन kलिप है, kजससे �हदंी क� देवनागर� का ही नह� गुजराती, बंगला, असhमया , उ�ड़या आ�द भाषाओ�
क� kलिपयp का भी hवकास हुआ है। देवनागर� kलिप मq बाय� ओर से दाय� ओर kलखा जाता है। यह एक वै�ाhनक
kलिप है। यह एक मा� ऐसी kलिप है, kजसमq ¡र तथा ¢ंजन £hनयp को hमलकर kलखे जाने क� ¢व¤ा है। संसार
क� समg भाषाओ� मq ¢ंजनp का ¡तं� ¥प मq उ¦ारण ¡र के साथ hमलकर िकया जाता है पर देवनागर� के
आलावा hव� मq कोई भी ऐसी kलिप नह� है, kजसमq ¢ंजन और ¡र को hमलाकर kलखे जाने क� ¢व¤ा हो। इस
कारण से देवनागर� kलिप अª kलिपयp क� तुलना मq अ«धक वै�ाhनक kलिप के ¥प मq ¡ीकायu है। देवनागर� kलिप
एक वै�ाhनक kलिप है। '�हदंी ' और 'सं¬ृत' देवनागर� kलिप मq kलखी जाती है।

S ubQ ues t ion No :  60S ubQ ues t ion No :  60
Q .60Q .60 दे वना ग र�दे वना ग र�   kलिपkलिप   मqमq   kलखाkलखा   जा ताजा ता   हैहै  - -
A nsA ns 1. बाय� ओर से दाय� ओर

2. बाय� ओर से

3. दाय� ओर से
4. दाय� ओर से बाय� ओर

Section : Basic Knowledge of Computer
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Q .61Q .61 Whic h ty pe of c ry ptography  is  mos t  c ommonly  employ ed to  guarantee aWhic h ty pe of c ry ptography  is  mos t  c ommonly  employ ed to  guarantee a
mes s age's  authentic ity  and integr ity  rather  than its  c onfidentia l ity ?mes s age's  authentic ity  and integr ity  rather  than its  c onfidentia l ity ?

A nsA ns 1. Hash functions
2. Public key encryption
3. Block ciphers
4. Symmetric encryption

Q .62Q .62 Whic h of the fo l lowing is  the file extens ion us ed for  s av ing a workbook  in M SWhic h of the fo l lowing is  the file extens ion us ed for  s av ing a workbook  in M S
E xcel?E xcel?

A nsA ns 1. .pcap
2. .zip
3. .tcl
4. .xlsx

Q .63Q .63 The s hortc ut to  s tart  an M S  PowerPoint  pres entat ion in Pres enter  V iew is :The s hortc ut to  s tart  an M S  PowerPoint  pres entat ion in Pres enter  V iew is :
A nsA ns 1. Alt + F7

2. Alt + F2

3. Alt + F6
4. Alt + F5

Q .64Q .64 Whic h of the fo l lowing is  a  d ifference between S ave and S ave A s  in M S  Word?Whic h of the fo l lowing is  a  d ifference between S ave and S ave A s  in M S  Word?
A nsA ns 1. The Save option is used for saving the document using the same name if the file is

already saved, and the Save As option gives us the choice of saving the document using
another name.

2. The Save option is used for saving the document using another name if the file is
already saved, and the Save As option gives us the choice of saving the document using
linked name.

3. The Save option is used for saving the document by using an extended name if the
file is already saved, and the Save As option gives us the choice to save the document
using another name.

4. The Save option is used for saving the document using another name if the file is
already saved, and the Save As option gives us the choice of saving the document using an
extended name.
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Q .65Q .65 The _____________ s ec t ion of the C ontrol  Panel  is  us ed to  remove WindowsThe _____________ s ec t ion of the C ontrol  Panel  is  us ed to  remove Windows
c omponents .c omponents .

A nsA ns 1. Ease of Access
2. Display
3. Files and System
4. Programs

Q .66Q .66
A nsA ns 1. 

2. 
3. 
4. 

Q .67Q .67 What happens  when a us er  appl ies  the 'Jus t ify '  a l ignment to  a  s ingle s hort  l ine ofWhat happens  when a us er  appl ies  the 'Jus t ify '  a l ignment to  a  s ingle s hort  l ine of
text  in M S  word 2 0 1 9?text  in M S  word 2 0 1 9?

A nsA ns 1. Large gaps appear between words to fill the entire line.
2. The text remains left-aligned.
3. The text is centred.
4. The text becomes right-aligned.

Q .68Q .68 Whic h tab al lows  a us er  to  ins ert  objec ts  s uc h as  c harts  and pic tures  into  an M SWhic h tab al lows  a us er  to  ins ert  objec ts  s uc h as  c harts  and pic tures  into  an M S
PowerPoint  s l ide?PowerPoint  s l ide?

A nsA ns 1. Insert
2. Design
3. Format
4. Home

Q .69Q .69 Whic h of the fo l lowing is  true regarding the us e of formulae in M S  E xcel?Whic h of the fo l lowing is  true regarding the us e of formulae in M S  E xcel?
A nsA ns 1. The formula == A1+A2*B1 will first add A1 and A2, then multiply the result by B1 due to

the left-to-right calculation order.
2. Formulae can be created using numbers only, without referring to cell addresses.
3. Formulae in MS Excel can only use predefined functions like SUM and AVERAGE and

cannot include cell references.
4. MS Excel follows the order of operations (PEMDAS) when calculating formulae,

which means multiplication and division are performed before addition and subtraction.
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Q .70Q .70 What is  the func t ion of a  web s erver?What is  the func t ion of a  web s erver?
A nsA ns 1. Manages email communication

2. Provides security for websites
3. Stores and retrieves web pages
4. Executes client-side scripts

Q .71Q .71 Whic h of the fo l lowing file extens ions  is  us ed for  s av ing an M S  Word doc ument?Whic h of the fo l lowing file extens ions  is  us ed for  s av ing an M S  Word doc ument?
A nsA ns 1. .pdf

2. .docx
3. .zip
4. .jpeg

Q .72Q .72 Whic h of the fo l lowing options  is  NO T val id  when a us er  wants  to  move to  theWhic h of the fo l lowing options  is  NO T val id  when a us er  wants  to  move to  the
next  s l ide dur ing a s l ide s how in M S  PowerPoint?next  s l ide dur ing a s l ide s how in M S  PowerPoint?

A nsA ns 1. Use "Left Click" mouse button
2. Press the "Enter" key
3. Press the "Down Arrow" key
4. Press the "Tab" key

Q .73Q .73
A nsA ns 1. 

2. 
3. 
4. 

Q .74Q .74 Pas s port  S eva Pro jec t  ( PS P)  was  launc hed in whic h of the fo l lowing y ears?Pas s port  S eva Pro jec t  ( PS P)  was  launc hed in whic h of the fo l lowing y ears?
A nsA ns 1. 2010

2. 2014
3. 2012
4. 2016
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Q .75Q .75 What does  the term ' fa ls e negative'  refer  to  in ant iv irus  s oftware?What does  the term ' fa ls e negative'  refer  to  in ant iv irus  s oftware?
A nsA ns 1. A virus signature that no longer matches any current malware

2. A malicious file being incorrectly classified as safe
3. An infected file being quarantined unnecessarily
4. A harmless file being flagged as malicious

Q .76Q .76 What a l ignment options  does  M S  Word provide for  centered paragraphs?What a l ignment options  does  M S  Word provide for  centered paragraphs?
A nsA ns 1. Aligns it on the left side

2. Increases spacing between words on both sides
3. Aligns it on the right side
4. Increases spacing on the left and right sides of each line

Q .77Q .77 Whic h of the fo l lowing is  a  c harac ter is t ic  of  a  WA N?Whic h of the fo l lowing is  a  c harac ter is t ic  of  a  WA N?
A nsA ns 1. Low cost of implementation

2. Limited geographical area coverage
3. High data transfer speeds
4. Wide coverage range

Q .78Q .78 Whic h of the fo l lowing is  NO T pres ent under  A utoC orrec t  O ptions  in an M S  WordWhic h of the fo l lowing is  NO T pres ent under  A utoC orrec t  O ptions  in an M S  Word
doc ument?doc ument?

A nsA ns 1. AutoFormat
2. Math AutoCorrect
3. Actions
4. Reactions

Q .79Q .79 What is  the firs t  s tep in c hanging the homepage of a  web brows er?What is  the firs t  s tep in c hanging the homepage of a  web brows er?
A nsA ns 1. Open a new tab

2. Clear the browser history
3. Close the browser
4. Open the browser settings
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Q .80Q .80 How c an a us er  pr int  a  s preads heet with the l ines  in M S  E xcel?How c an a us er  pr int  a  s preads heet with the l ines  in M S  E xcel?
A nsA ns 1. Select Page Layout-> Go to lines-> Select Print check box-> Click on Print

2. Select Page Layout-> Go to Gridbox-> Select Print check box-> Click on Print
3. Select Page Layout-> Go to Gridlines-> Select Print check box-> Click on Print
4. Select Page Layout-> Go to Gridsection-> Select Print check box-> Click on Print

Q .81Q .81 A fter  eight y ears ,  a  father  wi l l  be twice as  o ld  as  his  s on.  E ight y ears  ago ,  theA fter  eight y ears ,  a  father  wi l l  be twice as  o ld  as  his  s on.  E ight y ears  ago ,  the
father 's  age was  s ix  t imes  that  of  the s on.  How many  y ears  from now wi l l  thefather 's  age was  s ix  t imes  that  of  the s on.  How many  y ears  from now wi l l  the
rat io  of their  ages  bec ome 2  :  1 ?rat io  of  their  ages  bec ome 2  :  1 ?

A nsA ns 1. 8
2. 10
3. 14
4. 12

Q .82Q .82 E valuate:  1 850  − [ 4 50  − { 2 1 0  − ( 90  − 70  − 8) } ]E valuate:  1 850  − [ 4 50  − { 2 1 0  − ( 90  − 70  − 8) } ]
A nsA ns 1. 1673

2. 1458
3. 1598
4. 1528

Q .83Q .83 E valuate:  1 850  − [ 4 50  − { 2 1 0  − ( 90  − 70  − 9) } ]E valuate:  1 850  − [ 4 50  − { 2 1 0  − ( 90  − 70  − 9) } ]
A nsA ns 1. 1459

2. 1529
3. 1599
4. 1674

Q .84Q .84 A  dealer  buy s  two art ic les  X  and Y  for  ₹8 ,0 0 0  eac h.  He marks  eac h of them at  theA  dealer  buy s  two art ic les  X  and Y  for  ₹8 ,0 0 0  eac h.  He marks  eac h of them at  the
s ame pr ice.  He s el ls  X  by  giv ing two s ucces s ive d is c ounts  of 61 % and 4 8% ands ame pr ice.  He s el ls  X  by  giv ing two s ucces s ive d is c ounts  of 61 % and 4 8% and
s t i l l  earns  ₹580  as  profit .  I f  he s el ls  Y  at  a  s ingle d is c ount of 74%, then what iss t i l l  earns  ₹580  as  profit .  I f  he s el ls  Y  at  a  s ingle d is c ount of 74%, then what is
the profit percentage on Y?the profit percentage on Y?

A nsA ns 1. 
2. 
3. 
4. 

Section : Quantitative Aptitude
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Q .85Q .85

A nsA ns 1. 
           

2 . 
            

3. 
           

4. 

Q .86Q .86 A  man s el ls  a  mobi le phone for  ₹60 0  and los es  s ome money .  I f  he had s o ld  it  forA  man s el ls  a  mobi le phone for  ₹60 0  and los es  s ome money .  I f  he had s o ld  it  for
₹1 1 1 0 ,  his  gain would  have been 5 t imes  the ear l ier  los s .  The c os t  pr ice ( in ₹)  of₹1 1 1 0 ,  his  gain would  have been 5 t imes  the ear l ier  los s .  The c os t  pr ice ( in ₹)  of
the mobi le phone is :the mobi le phone is :

A nsA ns 1. 665
2. 685
3. 705
4. 715

Q .87Q .87 R buy s  1 2  penc i ls  for  ₹1 1  and s el ls  1 1  penc i ls  for  ₹1 2 .  What is  the percentage ofR buy s  1 2  penc i ls  for  ₹1 1  and s el ls  1 1  penc i ls  for  ₹1 2 .  What is  the percentage of
profit ( rounded off to  the neares t  integer) ?profit ( rounded off to  the neares t  integer) ?

A nsA ns 1. 18%
2. 19%
3. 21%
4. 20%

Q .88Q .88 The average of the marks  of 1 5 s tudents  in a  c las s  is  47.  I f  the marks  of eac hThe average of the marks  of 1 5 s tudents  in a  c las s  is  47.  I f  the marks  of eac h
s tudent are doubled ,  find the new average.s tudent are doubled ,  find the new average.

A nsA ns 1. 47
2. 94
3. 15
4. 30
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Q .89Q .89 A  pers on c an c omplete a  journey  in 1 4  hours .  He c overs  the firs t  one- third  of theA  pers on c an c omplete a  journey  in 1 4  hours .  He c overs  the firs t  one- third  of the
total  d is tance at  the s peed of 4 0  km/ h and the remaining d is tance at  the s peedtotal  d is tance at  the s peed of 4 0  km/ h and the remaining d is tance at  the s peed
of 60  km/ h.  What is  the total  d is tance of his  journey ?of 60  km/ h.  What is  the total  d is tance of his  journey ?

A nsA ns 1. 540 km
2. 720 km
3. 480 km
4. 360 km

Q .90Q .90 A  and B  c an c omplete a  work  in 3  day s ,  whereas  A  alone c an finis h that  work  in 6A  and B  c an c omplete a  work  in 3  day s ,  whereas  A  alone c an finis h that  work  in 6
day s .  In how many  day s  c an B  a lone c omplete the s ame work?day s .  In how many  day s  c an B  a lone c omplete the s ame work?

A nsA ns 1. 18 days
2. 6 days

3. 9 days
4. 3 days

Q .91Q .91 The inc ome of A mit  in 2 0 1 9 was  ₹2 3,60 0 .  He gets  an inc rement of 1 0 % everyThe inc ome of A mit  in 2 0 1 9 was  ₹2 3,60 0 .  He gets  an inc rement of 1 0 % every
y ear.  What was  his  inc ome( in ₹)  in 2 0 2 1 ?y ear.  What was  his  inc ome( in ₹)  in 2 0 2 1 ?

A nsA ns 1. 28,556
2. 28,320
3. 23,600
4. 25,960

Q .92Q .92 Two c andidates  A  and B  c ontes ted in an elec t ion.  4 0 % of the voters  voted for  A ,Two c andidates  A  and B  c ontes ted in an elec t ion.  4 0 % of the voters  voted for  A ,
whereas  60 % of the remaining voted for  B.  The remaining voters  d id  not  vote.  I fwhereas  60 % of the remaining voted for  B.  The remaining voters  d id  not  vote.  I f
the d ifference between thos e who voted for  A  and thos e who d id  not  vote wasthe d ifference between thos e who voted for  A  and thos e who d id  not  vote was
4 ,80 0 ,  then find the number of voters  el igible for  c as t ing votes  in that  elec t ion.4 ,80 0 ,  then find the number of voters  el igible for  c as t ing votes  in that  elec t ion.

A nsA ns 1. 32,000
2. 36,000
3. 28,000
4. 30,000
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Q .93Q .93 Two trains  A  and B  s tart  at  the s ame t ime with the s peed of 80  km/ hr  and 70Two trains  A  and B  s tart  at  the s ame t ime with the s peed of 80  km/ hr  and 70
km/ hr,  res pec t ively ,  towards  eac h other  and they  meet after  3 0  minutes .  What iskm/ hr,  res pec t ively ,  towards  eac h other  and they  meet after  3 0  minutes .  What is
the d is tance between the s tart ing points  of  the trains?the d is tance between the s tart ing points  of  the trains?

A nsA ns 1. 80 km
2. 70 km

3. 72 km
4. 75 km 

Q .94Q .94 A n art ic le is  marked at  ₹4 0 ,0 0 0  and avai lable under  two s c hemes .  S c heme AA n art ic le is  marked at  ₹4 0 ,0 0 0  and avai lable under  two s c hemes .  S c heme A
al lows  s ucces s ive d is c ounts  of 1 0 %, 1 5%, and 2 0 %, whereas  s c heme B  a l lowsal lows  s ucces s ive d is c ounts  of 1 0 %, 1 5%, and 2 0 %, whereas  s c heme B  a l lows
s ucces s ive d is c ounts  of 2 0 %, 2 0 %, and 5%.  How muc h wi l l  a  c us tomer s ave bys ucces s ive d is c ounts  of 2 0 %, 2 0 %, and 5%.  How muc h wi l l  a  c us tomer s ave by
buy ing the art ic le at  a  benefic ial  d is c ount out of the avai lable two d is c ountbuy ing the art ic le at  a  benefic ial  d is c ount out of the avai lable two d is c ount
s c hemes?s c hemes?

A nsA ns 1. ₹160
2. ₹170
3. ₹150
4. ₹180

Q .95Q .95 9 y ears  ago ,  the average age of A ,  B,  and C  was  2 3  y ears .  9  y ears  from now,  the9 y ears  ago ,  the average age of A ,  B,  and C  was  2 3  y ears .  9  y ears  from now,  the
average age of A  and C  wi l l  be 4 8 y ears .  What wi l l  be the age ( in y ears)  of  B,  7average age of A  and C  wi l l  be 4 8 y ears .  What wi l l  be the age ( in y ears)  of  B,  7
y ears  from now?y ears  from now?

A nsA ns 1. 23
2. 24
3. 25
4. 21

Q .96Q .96 S implify  the given expres s ion.S implify  the given expres s ion.

567  + 5.67  + 56 .7  + 0 . 567567  + 5.67  + 56 .7  + 0 . 567
A nsA ns 1. 629.379

2. 629.917
3. 629.937
4. 629.973
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Q .97Q .97 The s um of five numbers  is  655.  The average of the firs t  two numbers  is  75 andThe s um of five numbers  is  655.  The average of the firs t  two numbers  is  75 and
the third  number is  1 0 3.  Find the average of the remaining two numbers?the third  number is  1 0 3.  Find the average of the remaining two numbers?

A nsA ns 1. 178
2. 179
3. 201
4. 202

Q .98Q .98 If  4% of x  =  1 92 ,  then x  = ?If  4% of x  =  1 92 ,  then x  = ?
A nsA ns 1. 9700

2. 4800
3. 9600
4. 4900

Q .99Q .99 A  pers on’s  expenditure and s av ings  are in the rat io  9  :  5 .  I f  their  inc ome inc reas esA  pers on’s  expenditure and s av ings  are in the rat io  9  :  5 .  I f  their  inc ome inc reas es
by  2 0 % and expenditure inc reas es  by  1 5%, then by  how muc h percentage wi l lby  2 0 % and expenditure inc reas es  by  1 5%, then by  how muc h percentage wi l l
their  s av ings  inc reas e?their  s av ings  inc reas e?

A nsA ns 1. 24%
2. 27%

3. 29%
4. 32%

Q .1 0 0Q .1 0 0 A adi  and Bhavy a undertake to  do a piece of work  for  ₹1 5,0 0 0 .  A adi  a lone c an doA adi  and Bhavy a undertake to  do a piece of work  for  ₹1 5,0 0 0 .  A adi  a lone c an do
it  in 1 5 day s ,  whi le Bhavy a a lone c an do it  in 1 8  day s .  With the help of Puru,  theyit  in 1 5 day s ,  whi le Bhavy a a lone c an do it  in 1 8  day s .  With the help of Puru,  they
finis h it  in 6  day s .  What is  Puru’s  s hare?finis h it  in 6  day s .  What is  Puru’s  s hare?

A nsA ns 1. ₹5,000
2. ₹7,000
3. ₹4,000
4. ₹6,000
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